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1. “It is very unlikely that the accounting profit rate in the restaurant industry may stay at 1% for a long time. And it is extremely difficult for a restaurant to maintain its profit rate at 200% for a long time.” Do you agree? Explain.

2. Explain the following assertion:

“A private physician who decides to cut the price he charges to patients will observe two opposing effects on his overall profits.”

Illustrate your answer with a graphical analysis. 

3. a) Illustrating with examples, indicate the main fixed and variable costs of a restaurant.

b) Does a restaurant incur in substantial fixed costs in the long run? Explain.

4.  An increase in the price of oil raises the profit-maximizing price of the petrol retail sector (which operates under oligopoly in Portugal). Why? Support your answer with a graphical analysis.
Note: assume that BP, Repsol and Galp do not fear the entry by new firms.

5. “If, as a result of that oil price increase, Galp raises the price of petrol, its profits will decline, because BP and Repsol will not match that price increase”.

Do you agree? Explain.
Note: assume again that BP, Repsol and Galp do not fear the entry by new firms.

6. a) “The social welfare created by the electricity industry will only be maximized if the market price is above the unit cost of electricity”. Do you agree? Explain.
b) The distribution of industry to households is a monopoly in most countries. Why?
7. a) Without explaining, indicate the three disadvantages a new perfume company will face vis-à-vis both Hugo Boss and Armani.
b) Without explaining, indicate two different strategies that the new firm may use in order to penetrate the perfume industry.

c) In this context, what may you guess about the prices and profits of Hugo Boss and Armani? Explain. Provide a graphical illustration for your answer.
